EE-hyTFE 8/19(1)

[ADBws]
=15 . P RAE
| 8H19H (1)
| 25-5-25(H—1) 5L A1593%)
0] X1 & =¥
[©) @

9:30 ARLZ=7JL x OWLET tHHE
~ 0 o 7 10:40 DIV XTa1—35Y fE
L w 7 * 1150 | RL=FJLBXOWLETB | #EH
> L " N 13:00 | Pz LBXTa1—3I5UB| #E
;1, E e s 14:10 D5 x Q5 HE
G T | > 15:20 DEIT <&+ HE

(BJOws]
=18 Ry EBE L5
| 8H19H (1)
| 25-5-25(H—1) 7 TLA735)
] xt =¥
D @ .
9:00 BiEE xFasLyy HE
7 F 10:10 —=FCXFCEJ| HE
i 2 . G 11:20 | #E&BxJO0JLyYB | #HE
17 7 = e 12:30 —=FCB X FCE)I|B HE
) gy G n 13:40 OiL x Q5 HE
y | 14:50 DT xQ&I+ HE
[coovy]
=15 WEAEY v h—15
| 8H19A (L)
| 25-5-25(H—1) 7 TLA473%5)
] xt =¥
D @)

9:30 Ty xIAL97>y HE
2 7 - ~ 10:40 | FLO—)LXARLZT7)L | #E
L 4 L L 11:50 | TLyY7Bx (497 B | #HE
Y 5 2 - 13.00 |[FLS—ILBxXRL=7)LB| #+BE
v 7 l v 14:10 DB x Qb HE
7 > w w 15:20 DEITx Q&I HE

(A=)
%%EEEJ'L(})I*H’%

= R . 8H19H
SALEE |~L74—F| REPLO 255-25(5—1> T IL 1935 BB 1A
- ] *tE =¥
o Tt 9:00 SEXILT—F HE
10:10 | REPLOBX </ )L714—FB HE
REPLO 10:45 REPLO x £{bag HE
11:55 | REPLOBX </ )L714—FKB HE
13:40 REPLO X )L J4—K HE




